Sugar Research

Information Sheet

Calibrating your fertiliser box

Accuracy in fertiliser application rates is important and
equipment should be calibrated regularly. A calibration should
be taken at the start of each season every year as a minimum.
Since fertiliser flow rates differ between products and
sometimes from batch to batch, a calibration should be carried
out when different fertilisers are used.

Important note: 1 bag refers to a weight of 50 kg.
Equipment needed

e Measuring tape or measuring wheel.
e Kitchen type scales.

e Plastic bucket or containers.

Checking your fertiliser box output

1. Find your row spacing in the table below.

2. Measure out the distance corresponding to your row
spacing in the block to be fertilised.

3. Travel this distance as if you were fertilising, collecting the
fertiliser applied to one row of cane in a bucket/container.

4. Weigh the fertiliser in kg.

5. The weight you get in kg is equal to the number of 50 kg
bags applied/acre.

6. Convert bags/acre to kg/ha by multiplying the output by
125.

Row spacing Row spacing Measure this distance
Imperial (ft, in) Metric (m) Meters (m)
4'6” 1.37 59
4'8” 1.42 57
4'10” 1.47 55
5’0" 1.52 53
5’2" 1.57 51
52y 1.60 51
5'4” 1.63 50
6’0" 1.83 45
6’6" 1.98 40

Example

1. Current row spacing = 1.52 m.

2. Need to measure and collect fertiliser applied to one cane
row over 53 m.

3. The amount of fertiliser collected is 5.8 kg.

4. Therefore the number of 50 kg bags applied per acre is 5.8
bags/acre.

5. To convert bags/acre to kg/ha multiply by 125. Therefore 5.8
bags/acre x 125 = 725 kg/ha.

Adjusting fertiliser box output
After calibrating your fertiliser box you may find that you will

need to increase or decrease the amount of fertiliser applied. To
apply your desired rate of fertiliser, use the guidelines below.

To increase fertiliser application rate:

e Increase driving cog size or

e Decrease driven cog size

To decrease fertiliser application rate:

¢ Decrease driving cog size or

¢ Increase driven cog size

To increase or decrease cog sizes you will have to use one of the
formulas below to calculate the required number of teeth on a
driving or driven cog that will give apply your desired fertiliser
rate.

Changing Driving Cog

Number of teeth required =

Number of teeth on existing cog x required application rate

Present application rate
Changing Driven Cog

Number of teeth required =

Number of teeth on existing cog x present application rate

Required application rate
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Example

There is a 16 tooth cog on the tractor (driving cog) and an

8 tooth cog on a fertiliser box (driven cog). Currently 370 kg/
ha of fertiliser is applied. If 500 kg/ha of fertiliser needs to be
applied, what size driving or driven cog is needed?

New driving cog size = 16 x 500 = 21.6 (use a 22 tooth cog)
370

New driven cog size = 8 x 370 = 5.9 (use a 6 tooth cog)

500

Note: Either (not both) of these cog changes will give the
required application rate.

If you don’t have the correct size cog, don’t despair. There is
another way!

Changing both driving and driven cogs
using ratios

1. Check the current cogs. Count the number of teeth on the
driving cog (tractor/crumble roller) and driven cog (fertiliser
box).

2. Determine the Current ratio =

Number of driving teeth

Number of driven teeth
3. Collect and weigh output =
Existing rate (g/100m or bags/acre)

a. Forinsecticide granules collect output over 100 m
and weigh (g).

b. For fertiliser collect output over the distance (m)
specified by the current row spacing (m) and weigh (kg).
Refer to table overleaf for required collection distances.
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Checking your Fertiliser Box Output

Row spacing Row spacing Measure this distance

Imperial (ft, in) Metric (m) Meters (m)
5’0" 1.52 53
52" 1.57 51
53" 1.60 50
6’0" 1.83 44

4. Calculate the ratio required to apply the desired application
rate.

Ratio required =

Current ratio x required rate (g/100 m or bags/acre)

Existing rate (g/100m or bags/acre)

5. Locate this ratio on the accompanying table. There will be
a number of possible driving/driven cog combinations that
will apply the desired ratio. Choose the combination that is
most suitable, given the cogs available.

6. Fit the new cogs and recheck output as per instructions in
step 3.

For further information contact your local adviser.
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Driving and driven ratios for calibrations

Driving teeth
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